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TV PN GR 1A 50 1@ 50 0 0 0
75k SR 100 & 90 10 0 0
TV Rk 50 1# 50 0 0
7L U=C2N 30 kg 30 0 0
ENY2S FlRf 150 & 140 10 0 0
NETAS Felkf 100 & 90 10 0 0
ZEEIS Rk 50 1 50 0 0
fe A4k FelRf 50 1 50 0 0
FUA EHI 150 kg 150 0 0
Iy Kl 100 & 90 10 0 0
Fa'y stk =y 100 & 90 10 0 0
P FlRioh 300 kg 300 0 0 0
FAHL Rk 150 & 140 10 0 0
VEES e i) 200 1@ 180 20 0 0
b7 A4k R 200 kg 180 20 0 0
L7 A4k AR 100 kg 90 10 0 0
R7.ETV Koy 150 & 140 10 0 0
<A =) 70 kg 70 0 0 0
<A fie] L1 5+ 100 1@ 90 10 0 0
YY), k7244 FlRf 150 f& 135 15 0 0
YA A i) 250 1@ 230 20 0 0
Vvagh % 100 1 90 10 0 0
1572 Rk} 50 kg 50 0 0 0
&4 4 &Il 50 kg 50 0 0 0
TER) AVE45L Ry 400 kg 400 0 0 0
BTt THAES 50 kg 50 0 0 0
= e [t o 1,800 #% 1,800 0 0 0
A EHESEdS 50 kg 50 0 0 0
KP4k F5HL 200 1 180 20 0 0
KRAPATy 4k SH 200 & 180 20 0 0
AhYA = IR 20 {# 18 0 0
AhYA B IR 40 A% 36 0 0
VNIDZZAN = IRF 50 1 50 0 0 0
BANTF JEVR =54 500 A% 500 0 0
YTV REAS} 200 0 200 0 0
AR F RS 50 A< 0 50 0 0
A HE 300 kg 270 30 0 0
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= RN 2,000 £ 2,000 0 0
BT FlRioh 100 A< 100 0 0
FeLIA JEE VR =54 150 A 150 0 0
FLTA it [E] 400 kg 90 310 0 0
fu EIf 100 {i 95 5 0 0
1EAn A7 150 kg 150 0 0 0
* B3 % 2,300 kg 1,930 370 0 0
2,420 1 2,228 192 0 0
840 A 36 804 0 0
4,000 #& 1,800 2,200 0 0
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